45297 ** DRAWING PRINT SCALE CHECK - THIS LINE SHOULD MEASURE 10 3/8" LONG ** 45297

AN Sy ol 5&'(56&55-@““““ "ﬁl\,ﬁmm&“ﬁ
L5

S vt s ol B i

s 3 DO,

ALIGN BRACKET AND
TIGHTEN BOLTS SECURELY

(1) M16X2X45 10.9 METRIC BOLT > e baE k)
(1) 5/8" GR.8 LOCK WASHER e e
(4) PLACES =/
(SUPPLIED) N =

FIRST REMOVE ORIGINAL HARDWARE
AND REPLACE IT WITH:

(1) M16x2x60 10.9 BOLT

(1) 5/8" GR.8 WASHERS

(1) 5/8" GR.8 LOCK WASHER

(1) M16x2 10.9 HEX NUT
(4) PLACES

(SUPPLIED)

DRY TORQUE TO 230 LB-FT

(1) M16X2 METRTIC COUPLING NUT
(4) PLACES
(SUPPLIED)

REFER TO DETAIL A

(1) 7/8"NC X 11" GR.8 BOLT
(1) 7/8" GR.8 WASHERS

(2) PLACES

(SUPPLIED)

(1) THICK STEEL WASHER #45901
(1) 7/8" GR.8 WASHER
(1) 7/8" STOVER NUT

(2) PLACES
(SUPPLIED) LOCK WASHER
ADD LOCTITE
DETAIL A TO THREADS
SCALE1:5
MAGNUM TRAILER FRACTIONS CHART S SRERAISE SPECED | 'BRACKET INSTALL || 17234 ON 2017 FREIGHTLINER CASCADIA
& 1/32 03125 | 9/32 28125 | 17/32 53125 | 25/32 .78125 FR A;’g:‘:"“i‘:’gi“ CURRENT CUSTOMER STOCK NUMBER VENDOR NUVBER WEIGHT -LE.
EQUIPMENTINC. | Vit B | BiE 3| e | G| mae e .
: %?32 .%225 34332 fgggzs 54?32 .'%225 +/’.X3( ;3-- +/'.X 3( ();(85-- WO# DRﬁw;\j\Y DRA;E)D?T;—O&Q(S REVC
716 4375 | 11/16 6875 | 15/16 .9375 : :
72 &8 | 5% 75| B3 76975 | DIMENSIONS TO SHARP POINTS | 1:10 MOEE;,L;;\F} DR'KNKU.“AZE.%297 NUMB]EROFSHEETS




45297 ** DRAWING PRINT SCALE CHECK - THIS LINE SHOULD MEASURE 10 3/8" LONG ** 45297

SRR R REERbaRy
(1) 3/8" STOVER NUT

(6) PLACES

(SUPPLIED)

~7

&l

&
i
2

1] 5/8"'NC X 2" GR.8 BOLT

2) 5/8" GR. 8 WASHERS
(‘ 1) 5/8" STOVER NUT

8) PLACES
SUPPLIED)
MAGNUM TRAILER FRACTIONS CHART UNLESS OTHERWISE SPECIFIED [ SFE€T MAVE e
DIMENSIONS ARE IN INCHES BUMPER INSTALL 17234 ON 2017 FREIGHTLINER CASCADIA
& ]If?% .%:2]2?;5 g;?% %?]2%5 ]9;{22 g%;%s %g;?% 3?1225 FRA::?I&)E:?NCESA:RGELES CURRENT CUSTOMER STOCK NUMBER VENDOR NUMBER WEIGHT - LB.
e U B DR I R DG e e .
. o o . " " DRAWN BY
13/32 40625 | 21/32 65625 | 29/32 90625 +/’.X3( 03" +/'.X 05" WO# HM 2017-05-26 C
1652 ‘48875 | 25153 7hars | 818 Sass ' ' SR R
. . A NUMBER OF SHEETS
12 5 3/4 75 DIMENSIONS TO SHARP POINTS 1:10 GW AA_45297 1




	BRACKET INSTALL
	Drawing View2
	Drawing View3
	Detail View A (1 : 5)

	BUMPER INSTALL
	Drawing View4


